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Solutions to smp-6327-1/XNCI

Problem quickname: 6327

1)

Caclulate the result.

a) 92+ 5 = 97
d) 63 + 4 = 67
g) 68 44 = 72
2)

Caclulate the result.

a) 755 + 7 = 762
d) 704 + 9 = 713
g) 270 4+ 9 = 279
j) 614+ 8 = 622
3)

Caclulate the result.

a) 23 + 49 = 72
d) 26 + 96 = 122
g) 59 + 48 = 107
i) 90 + 40 = 130
4)

Caclulate the result.

a) TA+4 =78
d) 3246 = 38
g) 91 +2 = 93
Good Luck!
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Worksheet
b)31+3 =34 ¢) 45+ 6 = 51
¢) 48 + 3 = 51 £) 48 +9 = 57

b) 612 + 8 = 620
¢) 836 4+ 5 = 841
h) 752 + 8 = 760

b) 37 + 50 = &7
e) 35435 =170
h) 71+ 32 = 103

b) 89 +2 =91
e) 57+ 8 = 65
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¢) 354 + 7 = 361
f) 364 + 6 = 370
i) 519 4+ 9 = 528

¢) 46 4 68 = 114
£) 46 + 88 = 134

i) 22+ 47 = 69
¢) 5544 =59
£)32+9 =41
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